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Ideals for irreducible component#ﬂ)f Xpar
I = (u® —ut 4+ 2u—1)

I3 = (uw —u® —2u™ 4 30 + 4u? — et — 300 4+ 100 — 97 + 3uC + 5u® — 4ut + 20 — 2u+ 1)
I =(u+1)

* 3 irreducible components of dim¢ = 0, with total 22 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

I I* = (u® —u*+ 2u — 1)

(i) Arc colorings

o= (o)

0
a5: u

1
a9: u
o= (L)

2+
a8: 2

ut — u—|—1
ag =

—u? 41

az = \y*—u®—2u%2+1
ar = < ut 3+u +u—1>
ag = (u —ud —u? —2u+2)

—u’
a6 = \u* —ud —u?—2u+2
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u? + 4u? + 4u? — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €3, Cs u 4 ut +4ud 4 20 +du+1
Cs
€2, ¢4, Co uwtut+2u+1
Co
¢t u® —Aut 4+ 9u® — 9u? +du+4




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,¢3,C yP + Tyt + 20y° + 26y% + 12y — 1
cs
C2,C4,Cp y5—y4+4y3—2y2+4y—1
Co
7 y® + 2yt + 17y + 23y + 88y — 16




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1CS)

Cusp shape

= —0.760506 + 0.8158921

6.30195 + 1.138251

—3.90398 — 2.340581

—0.760506 — 0.8158921

6.30195 — 1.138251

—3.90398 + 2.340581

SRS
I

1.001870 +- 0.7417641

4.78344 — 10.611301

—6.76481 + 7.854541

u= 1.001870 — 0.7417641

4.78344 + 10.611301

—6.76481 — 7.854541

u= 0.517281

—0.786636

—12.6620




IL I¥ = (u'® — u'® — 20 + 3u!® + 4u?? — Tu'? — 3u'® 4 10u® — 9u” + 3ub +
5u® — 4u? + 2u? — 2u + 1)

(i) Arc colorings

o ()

0
a5 = U
1
ag = _u2
u
as = \—ud+u
—u? +1
G’S = _u2
ut —u?+1
ag = U4
—ult + 200 — AU 4+ 4u® — 3uP + 2u
asz = —ut 4w — 2w+ —
—ub +ut—2u2+1
ar = \ 48 — 248 + 2ut — 202
—ul® 4+ 201 — 500 + 6u” — 6ud +4ud —u
as = \u® — 3u + 6u't —9u? + 8u” — 6us 4+ 2u + u

—ul® 4 201 — 540 + 6u” — 6ud +4ud —u
as = \u® — 3u® + 6ult —9u? + 8u” — 6u® + 2u + u

(ii) Obstruction class = —1

(iii) Cusp Shapes
= 4u'? — 8u!0 4 16u® — 4u” — 16w’ + 8u® + 12u* — 8u® — 4u? + 4u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C3,C5 WO 5l 4+ 1
Cs
C2,C4,Cq u16+u15+_“+2u+1
Cy
7 (u® 4+ 2u” + 3u® 4+ ut 4 2u® + 2u +1)2




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C5 y16+11y15+—8y+1
Cs
C2,C4,Ce Yyt — 5y 4?41
Co
cr (y® +2y" + 11y° + 10y° + 7y* + 10y° + 6y> + 1)*




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —1.017320 4 0.1910911

—1.08130 + 5.296221

—12.10789 — 6.282961

u = —1.017320 — 0.1910917

—1.08130 — 5.296221

—12.10789 + 6.282961

u= 0.908738 4 0.2524771

—0.328380 — 0.2527031

—10.38985 + 0.965111

u= 0.908738 — 0.2524771

—0.328380 + 0.2527031

—10.38985 — 0.965111

u= 0.708362 4+ 0.6114011

—0.328380 + 0.2527031

—10.38985 — 0.965111

u= 0.708362 — 0.6114017

—0.328380 — 0.2527031

—10.38985 4 0.965111

u= 0.724199 + 0.8263881

5.63436 + 4.73566.1

—5.11364 — 2.915881

u= 0.724199 — 0.8263881

5.63436 — 4.735661

—5.11364 + 2.915881

u = —0.866890 + 0.6962741

2.35506 + 2.676071

—4.38861 — 3.324151

u = —0.866890 — 0.6962741

2.35506 — 2.676071

—4.38861 + 3.324151

u = 0.960503 + 0.6542821

—1.08130 — 5.296221

—12.10789 + 6.282961

u = 0.960503 — 0.6542821

—1.08130 + 5.296221

—12.10789 — 6.282961

u = —0.977539 + 0.7499411

5.63436 + 4.73566.1

—5.11364 — 2.915881

u = —0.977539 — 0.7499411

5.63436 — 4.735661

—5.11364 + 2.915881

u=0.059947 + 0.6228521

2.35506 — 2.676071

—4.38861 + 3.324151

u= 0.059947 — 0.6228521

2.35506 + 2.676071

—4.38861 — 3.324151




IIL I¥ = (u+ 1)

(i) Arc colorings

o= (o)

- (0)
w- (1)
w-(3)
e (1)
w= (1)

w= (1)

o= (31)
w= (0

w= (o)

(ii) Obstruction class = —1

(iii) Cusp Shapes = —18

10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
C1,€3,Cs5 u+ 1
(&)
C2,C4,Ce u—1
C7,C9
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,C3
C4, Cs5, Ce

C7,C8, C9
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(vi) Complex Volumes and Cusp Shapes

Solutions to I§ v—1(vol + /—1C5) Cusp shape

uw = —1.00000 —4.93480 —18.0000
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IV. u-Polynomials

Crossings u-Polynomials at each crossing
€1,63,C5 (u+ 1)’ +ut + - +du+ D)W+ 50" 4 — 4?4+ 1)
cs8
€2, ¢4, C6 (w—1)(u® +u* +2u+ 1) (u'® +ul® + - +2u+1)
Co
cr (u —1)(u® — du* + 9u® — 9u? + du + 4)

(u® 20"+ 3u8 +ut 4 20 4 2u 4 1)2
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing
66 =D+ 4+ + 12y = 1)y + 11y + - =8y + 1)
cs8
C2,C4, C6 _ 5_ .4 . _ 16 _ r, 15 A2
=D -y ++dy—Dy" —dy "+ —dy” +1)
co
cr (y — 1)(y° + 2y"* + 17y° + 23y* + 88y — 16)

(4 297 + 11y° + 10y° + Tyt + 1043 + 69 + 1)?
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